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Exercise 22

Calculate the conditional operator ρA|B = exp(σAB) with σAB = 1A ⊗ log(ρB) − log(ρ) for the
Werner state (see exercise 8):

ρw = λρ− +
1− λ
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Further calculate the values of λ for which ρw is separabel using the corresponding properties of
σAB .

Exercise 23

What are the Krauss - Operators of the Depolarizing Channel Cdp?

ρ
Cdp−−−−−→ (1− p)ρ+ p
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Exercise 24

What are the Krauss - Operators of the Bitflip Channel Cb?

|↑〉 Cb−−−−→ |↓〉

|↓〉 Cb−−−−→ |↑〉

Exercise 25

What are the Krauss - Operators of the Phaseflip Channel Cph?

|↑〉 Cph−−−−−→ |↑〉

|↓〉 Cph−−−−−→ −|↓〉

Exercise 26

What are the Krauss - Operators of the Bit-Phaseflip Channel Cbph?

|↑〉 Cbph−−−−−→ i|↓〉

|↓〉 Cbph−−−−−→ −i|↑〉


